NOTE e HINWEIS e Remarques ® NOTA e H515t o 5% o &if:
1. All product specifications are subject to change based on the actual product description. We reserve the right
to change or modify any product specification(s) without notice.

Wir behalten uns das Recht vor, die Produktspezifikation zu &ndern. Jede Anderung der
Produktspezifikation kann ohne vorherige Ankiindigung vorgenommen werden.

Toute caractéristique du produit est sujette a étre modifiée par rapport a la description actuelle du produit.
Nous reservons le droit de changer ou modifier toute caractéristique du produit sans en avertir.

Todas las especificaciones del producto estan sujetas a cambio en funcién de la descripcion del producto real.
Nos reservamos el derecho a cambiar o modificar cualquier especificacién del producto sin previo aviso.

HAHRRIPEEROEFEA L. TOHFRENELEEA,
AABEREYERNME, ERABUAEYAE, NKR BTSTEH.
AARDENELF=RME, FRIMEUEYARE. WBRE, BRBITER.

N

. ICY DOCK will not be liable for any software, hardware, or data stored within or interfacing with ICY DOCK products
which results in damage or malfunction. ICY DOCK will only be responsible for repairs and services of ICY DOCK
products.

Fir den Verlust von auf unseren Produkten oder mit Hilfe unserer Produkte gespeicherten Daten oder Schéden durch
jegliche Software oder Hardware die mit unseren Produkten verbunden ist, ist ICY DOCK nicht verantwortlich.ICY DOCK
(Gbernimmt nur fiir die Reparatur von und Dienstleistungen fiir ICY DOCK Produkte Verantwortung.

La responsabilité de ICY DOCK ne pourra etre engagée que pour le dysfonctionnement de ses propres produits.

ICY DOCK no asumiré ninguna responsabilidad por ningln software, hardware o dato o almacenado dentro
de los productos ICY DOCK o que interacttian con estos que dé lugar dafios o errores. ICY DOCK solamente
se hara responsable de las reparaciones y servicios de los productos ICY DOCK.

FEROEADEY ITEL > THOREIHEHRET 288, BHIFBREERT ZHELTZEVET. ORMROEEIH
LT—nEEEEVEEA.

MEREEAREREMERELBENREZSE, FAAAEaREARERZEE

HE, EMEMRERIEAHET S
MATR L ERARHEMER R CHERGEZLE, AL2BANABERFRZRIERIE,

ERE TR ERIRER 5

=
5
=
b

[

. Due to different drive specifications for the drive access signal, some drives may not support the access LED.
If the LED does not function, but the user can read and write to the drive, it falls under this category. If the LED
does not function, and the drive cannot be read or written to, please contact us for troubleshooting.

Auf Grund unterschiedlicher Spezifikationen kann es vorkommen, dass manche Laufwerke das
HDD-Zugriffssignal nicht unterstiitzen. Dieser Fall trifft zu, wenn Sie Lese- und Schreibzugriff auf das Laufwerk
haben, die LED aber kein Zugriffssignal anzeigt. Sollten Sie keinen Lese- und Schreibzugriff auf das Laufwerk
haben und die LED auch nicht funktionieren, so kontaktieren Sie uns bitte zur zur Fehlerbehebung.

A cause des différentes spécifications des signaux d'acceés, certains disques durs ne supportent pas l'accés.
Si la LED témoin ne s’allume pas, alors le disque dur n’est pas pris en charge, contactez-nous pour un
dépannage.

Debido a las diferentes especificaciones de las unidades para la sefial de acceso a dichas unidades, algunas
de estas puede que no admitan el LED de acceso. Si el LED no funciona pero el usuario puede realizar
operaciones de lectura y escritura en la unidad, dicho LED se encuentra dentro de esta categoria. Si el LED
no funciona y no se pueden realizar operaciones de lectura o escritura en la unidad, péngase en contacto con
nosotros para solucionar el problema.

o

HDDH WEBERIEA—D—ICKYRBYET B EICL>T—ERSHDDA AW RDLEDSL T ISR G TERLGS
AHYET, LT —2DHRABEEL B NISRFISHELHYF L A LEDSU TRV ERABETER
5a. HLEbEEEN.

STERRLEDSMEMSRAASARIB A FIRETRE A B A AR, B —LEREAR AT BE AR SCHF & R AILEDIE B 5 o
MRIIBHAERAME, AFRHERE, NRLEETERR R, HEEAET.
BRLEDIMNENSHHISRIERREE B ERTRE, §—L@BRF R RMILEDIE RS .
MREIERSRAEM, WAHIMIRE, MRLEMERAIFRRHFIHEREEIR, HEHRI.

To utilize the hot swap function, the host must also support hot swap. To check if your host supports hot swap,
please refer to the motherboard or controller card specifications and user manual.

Um Hot Swap zu nutzen muss diese Funktion von dem Host unterstiitzt werden. Konsultieren Sie hierfiir bitte
die Bedienungsanleitung Ihres Mainboards oder Ihrer Controller-Karte.

Pour profiter pleinement la fonction Hot-Swap, vérifiez que votre configuration accepte également la fonction
Hot-Swap.

Para utilizar la funcién de intercambio en caliente, el dispositivo principal también debe admitir esta funcién.
Para comprobar sea el dispositivo principal admite la funcién de intercambio en caliente, consulte las
especificaciones y el manual del usuario de la placa base o de la tarjeta controladora.

7 )L CHot-SwaptRE% A 5355 . HostflH Hot-SwaptREI G T DL EAHYFET .
T2 {EMHot-swap YT AE, HlHostifth FHE S #Hot-swapIiifE.

HHT

TR (EMHot-swapHIThBE, MHostifth HE X FHot-swapIhAE.

For further questions or concerns about ICY DOCK products, please visit us at http://www.icydock.com

Fir weitere Fragen im Zusammenhang mit ICY DOCK Produkten besuchen Sie bitte http://www.icydock.de.

Si vous souhaitez obtenir plus d'informations sur nos produits, venez visiter notre site : http://www.icydock.fr

Si tiene alguna pregunta o duda acerca de los productos ICY DOCK, visite nos en el sitio web
http://www.icydock.com

BEVEDEDBERIZIEHDKR—LR— ¢ http//www.icydock.comN\7 7 £ X LTL EEL,
MEME S ERAN, B0 ELEHEA L TR http/ www.icydock.com.
AR % =@ BT, IR b v BE 7 23 &) B3 - hitp://www.icydock.com.,

ICY DOCIK

2.5" SATA/SAS HDD & SSD Mobile Rack For 3.5" Floppy Bay
ToughArmor msoo1sk-8/mB9911k-8

Copyright © 2012 ICY DOCK International. All Rights Reserved. 650189 VER 1.0




Package Contents ® Packungsinhalt ® Contenu ® Contenido
del paquete ® FEEITDLNT o BT o B3E15AH

MB991SK-B / MB991IK-B Device

MB991SK-B / MB991IK-B Backplane

Produit

Base de conexiones
B ERAR

Emls

S

o] o )
o ] w;

User Manual

Bedienungsanleitung
Manuel d'utilisation
Manual de instrucciones
HMEAE

MRAE

B

M3*4 Flat Head Screw x 4 / M3*4 Round Head Screw x 4 / Key x 2

M3*4 Senkschraube x 4 / M3*4 Halbrundschraube x 4 / Schitssel x 2

4 Vis a Téte Plate M3*4 / 4 Vis a TéteRonde M3*4 / 2 Clés

Tornillo de cabeza plana M3*4 x 4 / Tornillo de cabeza redonda M3*4 x 4 / Llave x 2
M3k4 TTYRANYRRD x 4/ M3*4 FIOURANYRRD x 4/ £FaT14F—x2
M3*4IM BEIR A% (BHIEARF) x 4 / MI+AZEBRIRAAL BB M) x 4 / SHERGARL x 2
M3*AMKARLE (BFERF) x 4 / M3+4EkiRe (GHLFA) x 4 / HikHAR x 2

Front Panel Information @ Frontseite ® Description Fagade ® Informacion
del panel frontal ® RifE /X< JLIZDLNT @ BIEHRERFA © B E4R ik AR

1.2 Segment Key LOCK o 2-Segment Schloss e Verrou 2 segments a clé © BLOQUEO para llave
de 2 segmentos o §#77 © —EZIEHER © EEHik
2. Drive Tray Ejection Button ® Auswurftaste ® Bouton d'Ejection du Plateau ® Botén de eyeccion
de la bandeja de discos ® /x5 aVRAY o SHERBRICFRARSR » MNEILFARBE
| 3. LED indicator e LED Anzeige e Indicateur LED e Indicador LED e LED e #5R& e $57RAT
Power: Green LED e Betriebsbereit: Griine LED e Alimentation: LED Verte o Alimentacion:
LED verde o EiE: F')—> o TBif: 4 o BIE: X
I HDD access: Amber e HDD-Zugriff: Orange blinkende LED e Accés disque dur: Ambre
o HDD acceso: LED ambar @ HDD7 7t R: AL e iHEL: #APIME o iSIHL: XA

| 3 Rear Panel Information @ Riickseite ® Description Fagade Arriere
® |nformacion del panel trasero ® BFHE /SR JLIZDLNT

| ° BiRGRMET © BiRLHER
MB9915K-B

I

SATAHDD
| _
I MB9911K-B

—3 =) |

[ 1sPNPowER | | 1 I 1

HDD (Optional)

T

| 'SATA /SAS SAS HDD

Installation Guide @ Installationsanleitung ® Guide d'Installation ® Guia

de instalacion e & FDFAAHFIBIZ DT o IR1ELER o RIES TR

Please use included
M3*4 flat head screws
to secure the drive onto
the tray

Please use included M3*4 round head
screws to secure the device onto the
@.3.5" floppy bay




	MB991SK-B_MB991IK-B Manual_front.pdf
	MB991SK-B_MB991IK-B Manual_contrary.pdf

